> restart

> Ecua = diff (x(1), 1$2) —7 diff (x(1), ) +12-x(¢) =cos(3-1) + 7

Ecua.— —7 (% ) +12x(¢) =cos(3 1) + £ 1)
=> SolGral = dsolve(Ecua)
3t 41 1 1 7 7 37
= = 2 1 — - — — — 2
_SolGral x(t)=e C2+e Cl+ — B 7+ 150 cos(3 1) 150 sin(3¢) + 7 t+ 264 2)
> EcuaHom = lhs(Ecua) =0
2
EcuaHom:Zd—zx(t) -7 (ix(t)) +12x(t) =0 (&)
dl df
B Q = rhs(Ecua)
O:=cos(3¢) + 7 )
> EcuaCarac = m> —7-m~+12=0
EcuaCarac:=m* —Tm+12=0 S)
> Raiz := solve(EcuaCarac)
Raiz =4,3 (6)
> xx[1]:= exp(Raiz[1]-t)
xor, =€ ™
> xx[2] := exp(Raiz[2]t)
X, =e @®)
> SolHom = x(t) = _Cl-xx[1]+ C2-xx[2]
SolHom :=x(t) =¢*' Cl+¢' C2 )
> SolNoHom = x(t) =AA-xx[1] + BB-xx[2]
SolNoHom :=x(t) =AA "'+ BB &' (10)

> with(linalg) :
> WW := wronskian ([xx[1], xx[2]], ?)

4t 3t
c c
WW = an
4 e4t 3 e3t
> BB :=array([0, Q])
BB = [ 0 cos(3 1) + A ] 12)

> Parametro = linsolve( WW, BB)

30 +7 36 +7
Parametro := cost 43 - cosl 3)t a3)

> Aprima = Parametro[ 1 ]; Bprima = Parametro[?2 ]

2
Aprima := cos(3y) +7 2 Rl
e
2
cos(3¢) +¢

B (14)

Bprima = -



> AA = simplify(int(Aprima, t) + CI1); BB == simplify(int(Bprima, t) + C2)

AA = ﬁ (384 sin () cos(#)* — 512 cos(#)” — 96 sin(¢) + 384 cos(¢) +800¢*’ CI —200 7

—100¢—25) ¥

BB = i (9cos(3¢) —9sin(3¢) +54¢"

> SolFinal = simplify(SolNoHom)

C2+ 18P+ 12¢44) ! (15)

SolFinal =x(t) = 2 sin(#) cos(£)? — & cos(t)> + &' 2+ = A+ I (16)
25 25 12

1 3 . 1 . 7 12 37
I + 6 cos(3 1) 25 sin(¢) G sin(3¢) + 7 t+ 25 cos(t) + 264
> SolGral

_ 3t 41 1 2 1 A 7 37

I x(t)=e C2+e CIl+ 2 t +—150 cos(3 1) 150 sin(3¢) + 7 t+_864 a7
> Comprobar = simplify(eval(subs(x(t) =rhs(SolFinal), lhs(Ecua) — rhs(Ecua) =0)))
i Comprobar :=0=0 (18)
> ComprobarDos = simplify(eval(subs(x(t) =rhs(SolGral), lhs(Ecua) — rhs(Ecua) =0)))
i ComprobarDos =0 =0 19)
>
>
>




